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Rounding Off to Nearest 1,000

Circle the correct answers.

88 rounded off to the nearest 1,000 is..

a.   0

b.   80

c.   1,000

720 rounded off to the nearest 1,000 is..

a.   0

b.   700

c.   1,000

1,200 rounded off to the nearest 1,000 is..

a.   1,200

b.   1,000

c.   2,000

1,600 rounded to the nearest 1,000 is..

a.   1,000

b.   2,000

c.   1,500

4,822 rounded off to the nearest 1,000 is..

a.   4,900

b.   4,800

c.   5,000

7,800 rounded off to the nearest 1,000 is..

a.   7,000

b.   6,000

c.   8,000

8,500 rounded off to the nearest 1,000 is..

a.   8,000

b.   9,000

c.   10,000

9,055 rounded off to the nearest 1,000 is..

a.   9,500

b.   10,000

c.   9,000

12,499 rounded off to the nearest 1,000 is..

a.   12,000

b.   12,500

c.   13,000

13,887 rounded off to the nearest 1,000 is..

a.   13,000

b.   14,000

c.   13,800

55,099 rounded off to the nearest 1,000 is..

a.   60,000

b.   56,000

c.   55,000

99,524 rounded off to the nearest 1,000 is..

a.   10,000

b.   99,000

c.   100,000
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Answers

Circle the correct answers.

88 rounded off to the nearest 1,000 is..

a.   0

b.   80

c.   1,000

720 rounded off to the nearest 1,000 is..

a.   0

b.   700

c.   1,000

1,200 rounded off to the nearest 1,000 is..

a.   1,200

b.   1,000

c.   2,000

1,600 rounded to the nearest 1,000 is..

a.   1,000

b.   2,000

c.   1,500

4,822 rounded off to the nearest 1,000 is..

a.   4,900

b.   4,800

c.   5,000

7,800 rounded off to the nearest 1,000 is..

a.   7,000

b.   6,000

c.   8,000

8,500 rounded off to the nearest 1,000 is..

a.   8,000

b.   9,000

c.   10,000

9,055 rounded off to the nearest 1,000 is..

a.   9,500

b.   10,000

c.   9,000

12,499 rounded off to the nearest 1,000 is..

a.   12,000

b.   12,500

c.   13,000

13,887 rounded off to the nearest 1,000 is..

a.   13,000

b.   14,000

c.   13,800

55,099 rounded off to the nearest 1,000 is..

a.   60,000

b.   56,000

c.   55,000

99,524 rounded off to the nearest 1,000 is..

a.   10,000

b.   99,000

c.   100,000


